Just enjoy the game ®
with

CLUBAINVNVER. @

Owners Instruction Manual

Read carefully before you operate or trans-
port your new Clubrunner electric golf
caddy. Retain manual for future reference.
For warranty information see inside.

1-800-508-5408 www.clubrunnergolf.com



DEAR FELLOW GOLFER

Cg 0725, on your decision to purchase the Clubrunner Electric Golf Caddy by Para-
digm Sports. We are confident that you will experience the benefits that tens of thousands of other
owners have. Golf will be even more enjoyable when playing with your own personal caddy.

Read and follow the instructions and recommendations contained within this manual and then go
out and “Just enjoy the game.”

Should you require after-sales support, simply call our toll free number or contact us by e-mail. As
North America’s largest manufacturer of Golf Caddies for the walking golfer, we are comitted to
our customers and the support of our products.

Warranty

Two full years limited warranty on all parts and workmanship. Provided the Clubrunner
Caddy is used and maintained only as recommended and is not subject to commercial use,
misuse, negligence or wilful damage and no unauthorized service or modifications are made
to it, the manufacturer warrants to the original purchaser, that the product is free from defects
in the material and workmanship for a period of two full years from the date of purchase.

The Battery charger is warranted by the original equipment manufacturer. Batteries supplied
with the Clubrunner Caddy are warranted against defects by the original equipment

manufacturer. (See separate warranty declaration supplied with the battery).

The manufacturer will, at its option, either repair or replace any defective parts, free of
charge to the purchaser. Freight charges involved in returning goods for repair will be the
responsibiliy of the purchaser.

This warranty does not cover accidental damage and specifically excludes claims for indirect,
incidental or consequential damages.

Some states do not allow the exclusion or limitation of incidental or consquential damages,
so the above limitation or exclusion may not apply to you. Some states do not allow

limitations on how long the warranty lasts, so the above limitations may not apply to you.
This warranty gives specific legal rights and you may also have other rights which vary from

state to state.




ASSEMBLY

Red Wire

Red Terminal Cover

Battery Assembly =

Black Wire

Assemble the Leadwire - Battery to the battery teminals
using the nuts and bolts provided. (see figure ). ;
Position the red terminal cover over the positive terminal Positive terminal

post as shown. Post . ,
Negative terminal

Post

Bag Rest Assembly

Remove screw, nut and two metal grommets from the owner’s
manual packet.

Chose either the upper mounting location holes or the lower posi-
tion, based on your preference and / or the height of your golf bag.
Place the metal grommets in the tube depressions on each side of the
handle.

Position the bag rest over the holes and grommets, align the holes
and assemble the bolt and nut as shown.

Click the bag rest onto the tube and check for suitable position.
Secure nut and bolt.

Metal Grommet

Upper mounting location .
Lower mounting location Bag Rest

Handle

Tension Knob Assembly

Thread the tension knob into the chassis and nut as
shown.

Tension Knob




OPERATION

Connect the retractable front wheel to the chassis by
lifting up on the release knob, engaging the tube in
the chassis, release the release knob and slide the
tube into the chassis until it latches securely.

Note:-

For storage, the front wheel assembly can be
removed completely, or simply slid in toward the Chassis
chassis.

Slide the handle tube into the chassis mounting hole
and secure by tightening the tension knob.

Note:-

To remove the handle after use, simply loosen the
tension knob, lift out the handle and fold the upper
bag rest

Handle Tube

Control Cable
Jack

Place the battery assembly into the battery compart- hassis Connecto\rf
ment and connect the battery connector to the chas- -
sis connector matching the colours red to red, black
to black.

After use, disconnect the battery, remove from the

caddy and connect to the battery charger.

Replace the battery cover.

Ensure the power switch on the handle is in the off
position, then plug in the control cable jack as shown
in picture #2.

Place your golf bag on the bag rest brackets. Secure
by fitting the long velcro strap through the “D” ring,
pull snugly and flatten velcro into place.




OPERATION (CONTINUED

Rotate the speed control knob fully counter clockwise.
Switch the power switch to “On”. Rotate the speed control
knob clockwise until the desired walking speed is attained..
The power switch can now be used for on/off control.

A “soft-start” feature is built in to provide smooth accelera-
tion when switching to the “on” position.

Speed control changes can be made while moving to obtain
your optimum walking speed. Speed Indicator
Note:-

If the caddy is stationary, switch the power switch “off”.
Never leave the unit switched on and the speed control
knob turned down to zero. As well as draining power,
this could cause overheating of circuitry.

BATTERY MAINTENANCE AND CHARGING

The battery supplied with your Clubrunner product should be charged immediately after every
round of golf.

Speed Control Knob

. V Power Switch

Do not use any other type of charger to charge the battery. Serious damage or personal injury
could result.
Prior to using, read carefully the additional instructions WARNING: Leaving a battery in a
supplied with the battery charger. discharged or semi-discharged state is
the leading cause of premature battery failure.

Battery Handling Precautions

- Never place the battery near fire. WARNING: Use only Paradigm Sports
- Never short the terminals. approved batteries on your Clubrunner
- If battery cracks due to mishandling and dilute charger.

sulfuric acid contacts the skin, wash it off
immediately with water. If sulfuric acid contacts
the eyes, wash them with lots of water and see a
doctor.

WARNING: This product contains or
emits chemicals known to the state of
California to cause cancer and birth defects or

- Recharge the battery as soon as possible after use. other reproductive harm.

- When battery is not to be used for a long period,
store in a cool place, preferably below 20 deg. C.

We advise that the battery remain on the charger WARNING: Battery posts, terminals
connected to the AC. and related accessories contain lead
- Dropping or otherwise mishandling the battery and lead compounds, chemicals known to the
may result in irreversible damage to the battery state of California to cause cancer and birth
which would result in having to replace the defects or other reproductive harm. Wash

battery. hands after handling.




SAFETY PRECAUTIONS

This device is not a toy. Care should be taken at all times as there are high torque drives in operation.

All batteries are live power sources which typically contain caustic materials. Serious injury or fire may
result if the battery is not handled properly. If a metal object (such as the metal shaft on a golf club) contacts
both battery terminals, the battery may short out, possibly starting a fire in your vehicle.

The preferred transportation method is to place the chassis of the electric golf caddy in the trunk of your car,
securing it from excessive movement. Place the battery in the battery compartment of the chassis and replace
the battery cover over the battery. If this is not possible, then please be sure to follow the four steps below:-
1. Install the red terminal cover. (see Battery Assembly section of this manual)

2. Cover the battery terminals and wires to prevent shorting or arcing across the terminals. The battery cover
is an appropriate choice as a terminal and wire cover. It is further recommended that the cover be secured by
a strap or bungee during transportation.

3. The battery must be secured in place (in trunk or rear seat floor) to prevent shifting or tipping.

4. Make certain that golf bag and golf club shafts are secure and will in no way contact the battery terminals.

The Clubrunner golf caddy “free wheels” in a forward direction. This allows you to push the cart without
motor assist. The feature also allows conserving power going downhill when the power switch can be turned
off. However it is recommended that, when going downbhill, and uphill, you hold onto the handle to prevent
the possibility of tipping and/or a runaway.

Do not use the caddy to “pull” you up hill or drag the caddy uphill behind a riding cart.

TROUBLESHOOTING AND MAINTENANCE

1. No Power/Loss of Power
%* Check that the Power Switch on the Control Handle is in the “ON” position (See Operation section).

* Check that the Jack plug is securely connected with the socket on the chassis. (See Operation section).

%* Check and ensure that the battery connections are all correct and secure. (See Battery Assembly section).
* Check for solid connection of battery connector and chassis connector. (See Operation section).

% Check battery for adequate charge and/or recharge.

* Contact Parts and Service Department. 1-800-508-5408 (USA) 1-800-267-0098 (Canada)

2. To Clean Your Clubrunner Caddy

Disconnect and remove the battery before washing exterior surfaces with mild, soapy water.

Do not power wash.



EXPLODED VIEW - CLUBRUNNER

See over for Parts List - Please quote the Part number from this list when ordering



[tem
No.

ONO O WN -

N NNMNMNMNMNN-AA A A A aAaAQAQQaAQaA
P OWON_2OCOONOOOOPS,WN-OOO

24A
25
26
27
28
29
30
31
32
33
34
35
36

Part
No.

K0212
K7000
K2600
K2300
K2111
K0520
K0000
K2230
K0040
K1730
K0800
K0510
K0030
K2106
K3120
K2222
K0540
K1710
K0230
K3430
K1900
K1500
K1720
92582
K4999
K2198
K3130
K2199
K6300
K0601
K0604
K0110
K2720
K3199
K0120
K3110
K7220

CLUBASFINVNVER. €

Replacement Parts List - See over for exploded viw
Quote the Part Number when ordering

Description

Chassis

Gear Drive Motor

Roll Pin

Pulley

Screw - #10-32 x 3/4" (3 req'd.)
Shaft

Rear Axle Bearings (2 req'd.)
Pulley Gear

Bearing (2 req'd.)

Thrust Washer

Drive Belt

Rear Axle

Mounting Bearing

Screw 1/4"-20 x 1/2" (2 req'd.)
Hex. Nut (2 req'd.)

Output Gear

Pin - Drive Shaft

Thrust Washer

Cover Gearcase

Screw #8-16 x 3/4" (6 req'd.)
Plate, Control Board Mounting
Spacer

Shoulder Washer (2 req'd.)
Control Board Assembly
Shrink Tube (2 req'd.)

Screw #8-32 x 1/2"

Hex. Nut

Screw #8-32 x 3/8" (2 req'd.)
Tie Wrap

Leadwire - Control Board
Leadwire - Battery

Release Knob

Release Knob Spring

E - Ring

Tension Knob

Hex. Nut

Clutch Assembly - Left Hand

Paradigm Sports Inc.

[tem

No.

37
38
39
40
41
42
43
44
45
46
46A
47
48
49
50
51
52
53
55
56
57
58
59
60
61
62
63
66
67
68
70
71
72
73
74
75

300 Canal Street,

Lawrence,
MA 01840
USA

Part
No.

K7230
K7290
K8600
K0010
K1700
K3010
K0220
K2010
K6500
K2197
K2196
K2195
K8630
K0020
K0500
K2101
K2000
K0700
K0900
K0901
K4011
K2194
K0100
K3900
K2130
K3100
K3801
K0240
K3810
K8702
K8716
K8719
K8721
K8725

0001

0002

Description

Clutch Assembly - Right Hand
Drive Pin (2 req'd.)

Rear Wheel (2 req'd.)

Bearing (4 req'd.)

Washer (2 req'd.)

Retaining Ring (2 req'd)

Hub - Cap Rear Wheel (2 req'd.)
Front Wheel Tube

Front Wheel Housing

Screw #10-24 x 1-3/4"

Screw #10-24 x 1-1/2"

Hex. Nut (2 req'd.)

Front Wheel

Nyliner Bearing - Front Wheel (2 req'd.)
Front Axle

Screw 1/4"-20 x 1/2" (2 req'd.)
Handle Tube

Cord Handle

Left Handle

Right Handle

Switch Harness Assembly
Screw #8-18 x 5/8" (7 req'd.)
Speed Selector Knob

Upper Bag Rest

Screw 1/4"-20 x 1-3/4"

Hex. Nut - Bag Rest

Velcro Strap Set (2 req'd.)
Battery Cover

Handle Strap Battery (obsolete)
Battery

Battery Charger - Europe
Battery Charger - U.K.

Screw #10-24 x 1/2" (2 req'd.)
Nyloc Nut #10-24 (2 req'd.)

Toll Free: 1-800-508-5408 Fax: 1-800-726-5785 e-mail: info@clubrunnergolf.com



